Al £ 0 & AHES & Al

S o att
Hu: 2202 SH(SHYSM/HYL - 01F)
Cel: E8F &2l (S &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
ookt 13,067,300 16,366,416 A3,299,116
= 3,035,616
= 1,000,000
p) 206,000
=S 2,326,826
Al 6,498,858
20 SH(s8idsd/oiYdsb - 0E) 12,911,770 16,274,801 A3,363,031
= 3,035,616
[ 1,000,000
Il 206,000
< 2,326,826
Al 6,343,328
S8 og2e 820,650 23,100 797,550
= 240,000
Al 580,650
Hane 2 20,650 23,100 A2,450
201 Ler23 | 14,050 16,500 A2,450
01 At2teltl 14,050 16,500 A2,450
Oget+=ZHI 12,050
oMIANESINE &2 & A2
15,0002 +700H 1,050
o0 & 2EUY HFASE MA
3,000,000& *14] 3,000
SOHEOISHEAE HEIIZ2E MH
2,500,000 %14 2,500
oA - Ot =&
500,000& x102] 5,000
oA - 0leolIt E2E Fd|
500,000& *14] 500
O=23+¢ 2,000
offitd 2| +HRd AR BH &
100,000& 10 23] 2,000
202 04| 6,600 6,600
01 =LHOLI 6,600 6,600
Oolga & IXd F0Ed I SR ZA
20,0003 x3& »70& 4,200
OB HIXZ HE =l
20,0003 x2& »60! 2,400
HAOIIE THUHXI 800,000 0 800,000
s 240,000
Al 560,000
401 Al HIZL R 0HbI 800,000 0 800,000
& 240,000
Al 560,000
01 Al&HI 800,000 0 800,000




A OfeiMAL
M D20 SH (sS4 HE)
Cel: E8F &2l (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
OSI0r01E THHHX| Abe!
800,000,000 14 800,000
= 240,000
Al 560,000
EF LA K@ U =4 3,669, 143 3,949,398 280,255
= 1,137,156
= 663,786
Al 1,868,201
20 A2 AAE DL (2T AMY) 500,000 500,000
308 AXISHMSOIN 500,000 500,000
13 BI |2 SHICHEHE A XL EFALZHI 500,000 500,000
OFES0| AR} NAIT Z8(2HETAY)
500,000, 000& * 14! 500,000
Zetd olUX 2=2(di+g 5IE-I) 480,000 480,000 0
= 360,000
Al 120,000
403 XXM S K201 & 480,000 480,000 0
= 360,000
Al 120,000
02 SISO CHStR=2 X RIEAIS I 480,000 480,000 0
Oo&retd fUX 2=(di+=< slIE-I)
600,000,000 *80% 480,000
= 360,000
Al 120,000
e s MUTA(BIEAIR) 223 X 577,156 577,156 0
= 577,156
201 L2 AH| 6,000 6,000 0
= 6,000
01 AlR 2218 6,000 6,000 0
OFSH 4a2 MATA(HEAR) N22
Agiatel & 29 6,000,000 * 14| 6,000
= 6,000
202 O44| 5,040 5,040 0
= 5,040
01 =LHO4b] 5,040 5,040 0
OrIEt A2 MM (HEAIR) HE2
F& oI 20,0003 6 42 5,040
= 5,040
301 LPENZ 566,116 566,116 0
= 566,116
14 J|EI2 43 566,116 566,116 0
ORIEZ 242 MAX(HEAIR) 222
566, 116,000 *14] 566,116
= 566,116
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A OfeiMAL
M D20 SH (sS4 HE)
Rl dEtdes X & Ad x4 EER-E)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
& 50,000
Al 30,000
402 CI2HRH=0H 80,000 80,000 0
= 50,000
Al 30,000
02 QIEXH= AL B (01 & THE) 80,000 80,000 0
OLAHE Nts3 AIEEHl X&
100,000,000 *80% 80,000
& 50,000
Al 30,000
UAIZ 22|10 AXIXIJ 18,000 18,000 0
= 5,400
Al 12,600
402 CIZHR=0IH 18,000 18,000 0
& 5,400
Al 12,600
02 QIZERH2 AL 22 (0| & &) 18,000 18,000 0
OLAE 22| 4X K&
30,000,000 +60% 18,000
& 5,400
Al 12,600
MSLAEY 2042 SSK2 8,000 19,000 A 11,000
& 2,400
Al 5,600
307 gIztol ™ 8,000 19,000 211,000
& 2,400
Al 5,600
02 QB AAIEER 8,000 19,000 211,000
OMSLAR SE0IM2 Z3XY
16,000, 0002 *50% 8,000
= 2,400
Al 5,600
JIZHE (e =&EBAHIA MBS 20,000 20,000 0
& 3,000
Al 17,000
201 et | 20,000 20,000 0
& 3,000
Al 17,000
01 At 22|l 20,000 20,000 0
OJIZ8E s +ME2MEIA HMB (M2
£23) At 20,000,000 14! 20,000
= 3,000
Al 17,000
OB} Y I (XME) 300,000 300,000 0




A OfeiMAL
M D20 SH (sS4 HE)
Rl dEtdes X & Ad x4 EER-E)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
T 270,000
Al 30,000
206 =4l 300,000 300,000 0
& 270,000
Al 30,000
01 M=l 300,000 300,000 0
O=4EX Y 22 A
300,000,000 x 14! 300,000
& 270,000
Al 30,000
Slah MAD|BE ZH (XS 100,000 200,000 A100,000
= 80,000
Al 20,000
403 XIS MS 201 100,000 200,000 100,000
& 80,000
Al 20,000
02 I 2SS A2 X I EFAIZ I 100,000 200,000 100,000
Odlias MaD|gr =4
100,000,000 * 14 100,000
= 80,000
Al 20,000
O &k MZEE (X&) 160,312 306,250 A 145,938
& 128,250
Al 32,062
206 =4l 160,312 306,250 A 145,938
= 128,250
Al 32,062
01 =Yl 160,312 306,250 A 145,938
Oclat M At (el Re=2 16,0318 3
L) 160,312,000 * 14 160,312
= 128,250
Al 32,062
HICHE & 3t 140,000 140,000 0
& 42,000
Al 98,000
308 ALXIHMSOIH 140,000 140,000 0
& 42,000
Al 98,000
13 3|2 SHICHEHE & &2 ALY 140,000 140,000 0
OIS 33 At 140,000,000 14 140,000
= 42,000
Al 98,000
FUYANES SNES 50,000 51,937 A1,9387
& 15,000




A OfeiMAL
M D20 SH (sS4 HE)
Rl dEtdes X & Ad x4 EER-E)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
Al 35,000
402 QIZERH=01 N 50,000 51,937 A1,937
& 15,000
Al 35,000
02 QIIRH=A B (OIHTH ) 50,000 51,937 1,937
ORYYAES ZN2Z
100,000, 000& *50% 50,000
& 15,000
Al 35,000
Ot=22t gttt A3 x4 303,180 303,180
201 B2 AL| 1,500 1,500
01 AtR22lt| 1,500 1,500
Oger=2| 600
SAMET LBE 7Y
600,000 * 14 600
ogx=z 900
ocMEE RAZT OB YE U
2 XM ARt 900,000& * 1= *13] 900
202 Ot 1,680 1,680
01 =WOdLI 1,680 1,680
OO0I=2 diCH RS ALY X =0l
20,0003 «2Y 20 800
O =8 R
110,000 8! %224 x4 880
206 2 bl 300,000 300,000
01 zHl 300,000 300,000
OOHS Y BICH IHBIES (S8 XHE2 60,000
A &) 20,000,000 * 1571 2= 300,000
N MG SR 30,000 30,000 0
206 =8l 30,000 30,000
01 =4I 30,000 30,000
O A2 S|AY
30,000,000& *14! 30,000
HICI=E SX2el 30,875 30,875 0
201 B2 AY| 15,000 15,000
02 324l 15,000 15,000
03322 % HMAl 1,980
oHIO=EE 23 dllg, sS4z
165,000& «12& 1,980
OAIE &Y= XY 13,020
oHILISHE AIE |24
13,020,000 & 14 13,020
206 =6l 15,875 15,875
01 M=l 15,875 15,875
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SA: O{QMAT
HH: )220/ SH(STHDLL/HLL - 0E)
&Rl ojetd 24 (Cte M)
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
02 QIZHA A AL E X 48,000 720,000 A672,000
Om2t A HelXe
30,0003 *2,000= *80% 48,000
23 12,000
Al 36,000
SANHE HSHEE) 125,000 1,000,000 875,000
& 100,000
Al 25,000
401 AIEHI LS| 125,000 1,000,000 875,000
T 100,000
Al 25,000
01 Al&Hl 121,275 977,100 A855,825
OLAIONE HBIAI (FBAIR) (S X2S 6
,250& @ HLE) 125,000,000&+97.02/100 121,275
= 97,020
Al 24,255
02 2eldl 2,825 16,600 A138,775
OLAIONE HBIAIR (FBHAI)
125,000,00021%2.26/ 100 2,825
& 2,260
Al 565
03 A& S CHYI 900 6,300 A5,400
SIAIOIE HBIA (MBAIY)
125,000,000 +0.72/100 900
= 720
Al 180
2ItAtel 2 16,800 24,000 AT7,200
& 5,040
Al 11,760
307 Q1201 16,800 24,000 AT,200
T 5,040
Al 11,760
02 QIZHAAAIHE X 16,800 24,000 AT7,200
O8JtAt2l Al 16,800,000 & 14 16,800
= 5,040
Al 11,760
AR B3 22 5,600 6,600 21,000
201 Ler23| 4,000 5,000 21,000
02 324l 4,000 5,000 A1,000
OA-&EHIR X 4,000
oHMTIE P57 HYENE HE
=c/dl 4 000 *14] 4,000
202 O4d| 1,600 1,600
01 =WOdbI 1,600 1,600




M A
M D20 SH (sS4 HE)
&Rl ojetd 24 (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
O=4aH B39 AEHZAF (8|
20,0003 x5H « 162 1,600
ABIEHH X232 XI& 11,000 11,000
307 212+01 A 11,000 11,000
02 QIZHBAAIEER 11,000 11,000
OEILARl SRS L SAY £5T5E
S 3,000,000 % 14! 3,000
O =0t HiCtaeld| 25
3,000,000& * 14| 3,000
OHICHIA 812 &= H0ED| 28
3,000,000& * 14 3,000
O2Xl SHetIt HtCHM D] ==H
2,000,000 *14] 2,000
HEHUE MAAY |22 33,000 0 33,000
201 B2 AY| 33,000 0 33,000
01 A=R2teld| 33,000 0 33,000
O&elg4| 33,000
oAlAIZE e 2LIEHE AlAY RXIE
= 33,000,000 14! 33,000
S THaH ol 4,081,926 4,643,949 AB62,023
= 1,278,040
= 423,000
Al 2,380,886
KHHATHGH oA & HOIRFLH CHY| 45,500 10,770 34,730
201 LBt AH| 39,500 4,770 34,730
01 AtR2elt] 39,500 4,770 34,730
Oget=2H| 19,500
oXtHTHOH MY (MS) TISHTAL A28 2
= 3,000,000 * 14 3,000
oQiot 28 QHEAID YHES 2L
1,000,000 *14] 1,000
o XtATHoH AAlME HIAM Xeldl
300,000& *50& 15,000
oot R HIIZ Xl
100,000& *5& 500
Odxt=z 20,000
o RHATHOH LAIME HAMK = ZHHl &
Xt 2,000,000& * 102! 20,000
202 0idl 6,000 6,000
01 =LHO4b]| 6,000 6,000
OXrATHOH MY (=) T ol L mohH=
At 20,0003 350 3,000
Odot K2 SHAS0I U YHH
20,0003 *3H«50 3,000
oERHE 232 K& 1,750,000 1,750,000 0
= 875,000




2N

M D20 SH (sS4 HE)
CHelr IS THoH ol (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
T 175,000
Al 700,000
307 2I2+0l™ 1,750,000 1,750,000 0
= 875,000
& 175,000
Al 700,000
02 QIZHBAAIH E R 1,750,000 1,750,000 0
OUERE 23 N
2,500,000,000& x70% 1,750,000
= 875,000
& 175,000
Al 700,000
=Ns=2 ZEY HAZ3g 678,080 678,080 0
= 339,040
Al 339,040
307 QIZt01 A 678,080 678,080 0
= 339,040
Al 339,040
02 QI B AAIEER 678,080 678,080 0
O&MSS HHY WAl B3
1,130, 133,000 *60% 678,080
= 339,040
Al 339,040
SHAIIE2l Al SUHe X2 (XEt) 196,000 210,000 A 14,000
& 98,000
Al 98,000
402 QI2HRt=01H 196,000 210,000 214,000
= 98,000
Al 98,000
02 QIR A 2 (01 THE) 196,000 210,000 A 14,000
OffaItFel Ale STHa X2
280,000,000& x70% 196,000
& 98,000
Al 98,000
ola2 tis K& 72,000 72,000 0
= 64,000
Al 8,000
201 B2 AY| 40,000 40,000 0
= 32,000
Al 8,000
01 AtR2elt] 40,000 40,000 0
OURZ2 (K8 40,000
o0& id| WststAS 28t
40,000,000 *14] 40,000




M A
M D20 SH (sS4 HE)
CHelr IS THoH ol (Cte M)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
= 32,000
Al 8,000
307 QIZt0I A 32,000 32,000 0
= 32,000
02 QIZHBAAIHE R 32,000 32,000 0
OO0l A== Yl Hotats B2(EH) A
32,000,0003 *14! 32,000
= 32,000
LAl ME TWoH2EES K2 500,000 500,000 0
T 150,000
Al 350,000
307 212+01™ 500,000 500,000 0
& 150,000
Al 350,000
06 283 500,000 500,000 0
OYAILAE KRR X
500,000,000 x 14! 500,000
& 150,000
Al 350,000
236 29 840,346 709,099 131,247
201 B2 AY| 840,346 709,099 131,247
01 A=R2teld| 100,920 100,920 0
Oget=ZH| 3,800
oBN MMl FIIZA =2
600,000 4= *13] 2,400
CRTH RE= FIIYM +48
150,000 *4 X *13] 600
oBBM BT 7Y U N S
50,0003 * 164 800
Oo=2g==< 87,120
ozIH Y - =ZY| 87,120
- 60,000 *3= x119 21,420
- =3 60,0002 x3%{*3652 65,700
Onl=h| 4,000
oBTH a2 Hoy= 4,000
- &3t 20,0002+ 16% 320
-yt 130, 0002 » 162 2,080
-xeiz 100, 0002 16 1,600
Ol 6,000
oBBH 2R S2 O4AIL|
500,000 =12 6,000
02 3324l 739,426 608,179 131,247
O3223 £ HMAl 26,400




SN QAT
HH: J22012 SH(STHLA/HAS - 0F)
O:II:I

St IS THoH o (Cte M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
od3d 2 HIIB, SUg, V=dlg S
2,200,000& 128 26,400
OAlZ &I Xl 45,000
oHXD ¥ £ 45,000
—42l U RABRA(RHES R, TM4 S)
20,000,000& *14! 20,000
-S4 HIANLE B
25,000,000 * 14| 25,000
OXtg - &=t 668,026
o33N 4H(HFH - Fatd - ) 664,000
-8 A 2l
300,000,000& *14] 300,000
- &M =X 10,000,000 4 X 40,000
-J12 R 10,000, 000! x4 40,000
-288 RR(IR)
1,550@1+80,0002 & 124,000
-H8E U 847 S P
10,000,000 * 14! 10,000
- &E0195 FI2 FJ| LA
150,000,000 *14] 150,000
CAEEE 2X(ME22S, HZ2335) 4,026
—dg 2 & =A2
1,500,000 2= 3,000
-2¥8 RR(FLR)
1,7102 6002 & 1,026
HAorH 5 3,959,031 4,295,254 A336,223
= 471,100
= 1,000,000
) 206,000
= 895,000
Al 1,386,931
aEAE 298 2 2 84,031 105,254 N21,223
101 @124H| 30,451 32,174 A1,723
M IINZZE2NSES 30,451 32,174 A1,723
ONYE HAEIZS ZEAE 2E 30,451
o0IfYy 80,2402 x1H+52U x52%= 20,863
oFxFd 80,2402 x1H» 12 x52%= 4,173
ocMERD HELY
7,680 * 16 x525= 2,397
oMelEERE 3,017,4203 %14 3,018
201 fer=2 3| 41,580 43,080 1,500
01 AtR2te|HI 4,800 4,300 500
Oo=2g=g 1,800
oMl gl OtSCH2 o 2totRI| 2
3 ?F B4 =&
100,000& 9 & *22] 1,800




S o att
Hu: )220/ FH(SHYEA/HY L - 01F)
Chel: Qioh gt (ol dR)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
Ozels9ll 3,000
o8I &J| erd2te||
3,000,000 14| 3,000
2 35234l 36,780 38,780 /2,000
O332= % HAl 27,780
CHAEIRE LBAIM 29 &I L S
== 2,300,000~ 128 27,600
oA AHE &EF lof SU=
15,0002« 12& 180
OAlE &8I Xl 9,000
CHAEIZSE Z&J| =Al 22/
160,000, 0002 *5% 8,000
SHAEIZE ZSAE UIIHHE WHIIEE
CHet| 500,000 <22 1,000
308 XXM SOIH 12,000 25,000 213,000
14 JIEIR83 12,000 25,000 213,000
OHJlZ M2 FE=
1024%1,200,000kg 12,000
HeMeD| HaHIS) 2,000,000 2,000,000 0
[ 1,000,000
= 500,000
Al 500,000
101 @124H| 869,879 933,140 N\63,261
= 434,939
S 217,470
Al 217,470
M IRNZ2Z2NSE s 869,879 933,140 63,261
Ool &gyl &3t 869,879
oQI2Y 80, 2403 ~45E x5 L 325 577,728
s 288,864
= 144,432
Al 144,432
oFsadg 80,2403 x45Z x 12U #32= 115,546
= 57,773
< 28,887
Al 28,886
osdIRsY
80,2403 +45%H 8L +150f% 43,330
s 21,665
& 10,832
Al 10,833
o ZHAH| 3,0002 «45 & 5L x32%= 21,600
s 10,800
& 5,400
Al 5,400




A OfeiMAL
M JIZE0Y SH (SN LA/ L - HE)
Chel: Qioh gt (ol dR)
A - FHY . S2(3) - HRAY - BES Ol ke e HlmS2
SEME=1:]l 13,0003 ¥ 52 323 18,720
s 9,360
& 4,680
Al 4,680
SYNeIieE=:E=d 86,205,000 14 86,205
s 43,102
& 21,551
Al 21,552
o2 2 HMEH S FY
150,000 *45H 6,750
s 3,375
& 1,688
Al 1,687
201 Ler2FH| 1,115,121 1,051,860 63,261
s 557,561
& 278,780
Al 278,780
01 At 22|l 1,115,121 1,051,860 63,261
Oget=ZH| 989,521
oMY Il =H ES 7L
92,798,000 & 14! 92,798
s 46,399
& 23,19
Al 23,200
oHIIE HMaldl 896,723,000& » 14! 8%,723
s 448,362
= 224,181
Al 224,180
Otz 125,600
o) FH| gtz
125,600,000 14! 125,600
s 62,800
= 31,400
Al 31,400
202 Ot 15,000 15,000 0
s 7,500
= 3,750
Al 3,750
01 =WOdbI 15,000 15,000 0
OtHLM D] AEHZAL L 2=04]
20,000 *15F 50 15,000
= 7,500
& 3,750
Al 3,750




S AL

Hu: )220/ FH(SHYEA/HY L - 01F)

ool gordst (] &)
RN B - SRA(SH) - MISAR - BES 0fl &t e HIDEY
Fetoller HIIZ S XIZ A 412,000 0 412,000

Il 206,000
Al 206,000
101 @124H| 308,883 0 308,883
Il 154,442
Al 154,441
04 JIZtNZ22XSE = 308,883 0 308,883
OFefaliet HIIZE s X3A 308,883
QIR 80, 2403 17 B #5232 218,253
Il 109,126
Al 109,127
oxFFad 80,2403 17H+ 12 +32= 43,651
Il 21,826
Al 21,825
oRdI22sd
80,2403 17 H 82 +150% 16,369
Il 8,185
Al 8,184
cAEEEE 30,609, 9603 * 14! 30,610
Il 15,305
Al 15,305
201 L2 103,117 0 103,117
Il 51,558
Al 51,559
01 AtR2telb] 103,117 0 103,117
Oget=EH| 65,289
oMl =HES 7Y
65,289,000 * 14! 65,289
Jl 32,644
Al 32,645
ogxz 37,828
o= FH| X
37,828,000 & x 14! 37,828
Il 18,914
Al 18,914
ot&E ot AdiD| Eat 673,000 800,000 A127,000
= 471,100
Al 201,900
101 e124d| 339,641 364,197 N24,556
= 237,748
Al 101,893
04 JIZtHN22 X sSE+ 339,641 364,197 N\24,556
Osdtaot+ Aeld| Hat 339,641




M A
ZH: J|2E0Y SH(SHHSSA/HL S - 0fE)
Chel: Qioh gt (ol dR)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
ool 80, 2403 *18H x5 x32Z= 231,092
= 161,764
Al 69,328
oFgg 80,2403+ 18H 12322 46,219
= 32,354
Al 13,865
cEYRRAY
80,2403 * 18 x84 *150% 17,332
= 12,132
Al 5,200
o Z2tAlY| 3,000& x18H x5 +32= 8,640
= 6,048
Al 2,592
SYNRCIE= Y= 33,657, 403 14 33,658
= 23,560
Al 10,098
o2EX AT S PY
150,000 * 18X 2,700
= 1,890
Al 810
201 B2 AY| 318,359 420,803 A102,444
= 222,852
Al 95,507
01 AF22t2H| 318,359 420,803 A102, 444
ogst=gH| 290,098
oM £HBS 7Y
54,598,000 & 14! 54,598
= 38,219
Al 16,379
oHDIZ2 HMeldl 235,500,000 & * 14! 235,500
= 164,850
Al 70,650
oYtz 28,261
o4 Bl YXE
28,260,570 14! 28,261
= 19,783
Al 8,478
202 0idl 15,000 15,000 0
= 10,500
Al 4,500
01 =LHOdHI 15,000 15,000 0
O&EIEA 2 2= MdD] ¢l
20,0003 =158 x50 15,000
= 10,500




A OfeiMAL
M D20 SH (sS4 HE)
Chel: Qioh gt (ol dR)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
| Al 4,500
oMY D] AR oHE AXI(HEANR) 160,000 160,000 0
& 80,000
Al 80,000
401 A& B2 200 160,000 160,000 0
T 80,000
Al 80,000
01 Al&HI 160,000 160,000 0
Oo M0 dAEGHE &X
160,000,000 * 14 160,000
= 80,000
Al 80,000
A T OIAMYD| L=0H (XA 630,000 630,000 0
& 315,000
Al 315,000
307 212+01™ 630,000 630,000 0
T 315,000
Al 315,000
05 29 e a3 630,000 630,000 0
Ox=AHS 1M Dl ==0H4
630,000,000 *14] 630,000
= 315,000
Al 315,000
N2 HEYI (L AMA D) (DIEHDIE} 103,282 91,615 11,667
olE2Z| 34,112 32,136 1,976
ol 23| 34,112 32,136 1,976
101 2124l 34,112 32,136 1,976
03 SRA(RINHS) 222 34,112 32,136 1,976
OAZtel2R4Y
17,7663 x4 Z *20 Al 2t 12 % 150% 25,584
Oz
142, 1242 »4H x 102 *150% 8,528
J|1E2&l 69,170 59,479 9,691
J|123H| 69,170 59,479 9,691
201 B2 AY| 54,877 46,240 8,637
01 A=R2teld| 39,877 31,240 8,637
Ogt=2H| SHAA
13,138,000 & * 14! 13,138
O=4t| SHH & 26,739,000 & 14! 26,739
02 324l 15,000 15,000 0
O3223a & MA S SWH &
15,000,000 & 14| 15,000
202 04d| 7,093 6,039 1,064
01 =LHOdH] 7,093 6,039 1,054
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